HANDSHAKE PROBLEM RUBRIC

Name:
_______________________________________________
Date:
_________________________________
Score: _____________
I can identify the question based on an oral explanation of the task.  [first part of 1) What’s the question?]
	4
	3
	2
	1

	I completely identified the question based on an oral explanation of the task.
	NA
	I partially identified the question based on an oral explanation of the task.
	I did not write down the question.


I can correctly assess what kind of problem this was and identified a strategy to try.  [second part of1) What’s the question? and 2) pick a strategy]
	4
	3
	2
	1

	I correctly assessed the type of problem and identified a strategy. 
	I correctly assessed the type of problem and did not identify a strategy.
	I incorrectly assessed the type of problem and identified a strategy.
	I incorrectly assessed the type of problem and did not identify a strategy.


I can follow through with the strategy I identified.  [3) put your strategy to use]
	4
	3
	2
	1

	I showed work that matches my strategy I earlier identified.
	I showed most of the work that matches my strategy I earlier identified.
	I showed little work that matches my strategy I earlier identified.
	I showed no work.


I can analyze the strategy to find a correct answer that satisfies the handshake problem.   [4) Correctly applied the strategy]
	4
	3
	2
	1

	I analyzed the strategy to find a correct answer that satisfies the handshake problem.
	I showed some process and correctly got an answer that satisfies the handshake problem.
	I have correct process but made a procedural error in the calculations.
	I did not have the process and I have an incorrect answer.


